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Let i = x"y be an exact integrating factor of ydx +2xdy =0 then |
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ble but not finear ) Linear but not separable ) Both




| 20114
If y isasolutionof y'+y=2 y(0)=0

11 O O2




B general sokton of )y~ 20y 4+ Cy = 0, whare D and C are constants s y = C10" 420 % Thenthe

?~c=? b= c=2

=1
2







fenctions are inearty ndependent
Ay =1, g0 = 20 fory=cos'x g} =cos@x) +1 O flx) > e* . gl =

o







solution of the exact DE (2+5y)dx+(3+5x)dy=0 )

+5yx+3=c O2x+5y=cC Oy=-2x+cC +5yx+3y=¢C
VX y Q@+ o+ =C
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If yy =« isasolutionof (224 1)y - 22y 4+ 2y =0,

then a second linearly independent solution is gy =

(A) «2-1
(B) «*
(C) e
(D) -1
(E) None
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If w r isasolutionof (1 - 23)y" 4+ 22y -2y =0,

then a second linearly independent solution is y,

(A) =1

(B) #2-1
(C) #*
(D) ~(«2+1)

(E) None
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Choose the true answer

2 points

O 0 @®Q0 0O

Lot y 1, yz = 2? be two independent solutions
of #%y" — xy' = 0 then the particular solution of
]

2y -y ==

is Y(x)=

(A) 24
(B) 327
(C) §*
(D) 3+
(E) None
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Question * [
(3 Points)

The indicial equation of 22" 42y 4 (27 - )y =0

at = 0 is:

(A) Per-4=0
(B) =0

(C) PP -d4=0
(D) PP44=0

(E) None
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One of the following ODEs is a second order linear ODE

S jghd et et

y"(z) - 2y (z) = —4al)
y'(z) - 24 (x) =5
" (x) + v (x) — 2cosx. ylz) =0

y" (x) — 3y(x).y/(x) = b=+ ld







2y -2 =0, 10) = 0,y(1) =1










O B.y(z) = &1 + &lnz + cyzinz

O c.y(@) =6 + 0z +ar’

O p.y(x) = & + orF +cszinz

0 Ey(x) =6+ or +6ine







O B.y(z) = 1 + alnz + ezinz

O c.y(z) = ¢ + ez 4+ ez
O 0.y(x) = & + &r7 + cszinz

O £ ylx) =6 + o + eslnz




O A Y(z) = Ae* + Be *
) 8.Y(z) = Aze* + Bre'*

D C.None

) 0.Y(z) = Aze* + Be *

) £ Y(z) = Ae”  Bze™*




OBy +6y —6y=0

) ey +6y +9 =0

D. None

Y 46y ~9=0
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Select one:
OAYt)=c+oe™

O B.None
O c.y(t) =6y +ce™ + 2t

O oy(t)=c +ce ™ +6

| Eylt) = ¢ + ce™




Select one:
O A None
O 8. 1(1 + cosdt]

O €. 1+ cosdt

O D. —+[1 4 cosdt]

O B 41+ sindt]




O B.y(z) = & + alnz 4 cyzinz

O c.y(z) =6 +0rz + eaz?

O p.y(x) = &1 + &z + azinz

Eylz) =1 + oz +cinz




Select one:
O AY(z)=Ae* +Be*

B.Y(z) = Aze” 4 Bze *

D C.None

D.Y(x) = Aze* + Be *

£Y(z) = Ae* + Bre *




using the unit step function in the form f(¢) = siné

Select one:
O A sint —t

O B.t — tsint

D C.t+tsint

0.t — sint

J E None







Select one:
O AY(z) = Ae* + Be *

8.Y(z) = Aze* + Bze *

D C.None

D.Y(z) = Aze* + Be *

£ Y(z) = Ae* + Bze™*




Select one:
O 3l; ~ 75l

O B.None
=0 ]

(O E oot | f= S . Jod
okt

2% -0
(n-0)% 14




Select one:
11
O A 5l5 = 54l

O B.None

Ir 1 -6
sl =g

-5

E 1
O D, = o B
L s

2

{a-0)"i4




TR e e,

Llux(t)cos(t)]

Select one;

O' A None

O B —71—‘e"'
6 ye™

1 ~
D. — 7€




Select one:

11
OA 5[5 — 2%
O B.None

a=0 ]
(a=-8)14

1 1
OC gl -

1 25

QD —g = —
~b (x-0)3 14
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Select one:
O A uy(t)sin(2t - 6)

J B.None
C. ua(t)sin(2t)

D. sin(2¢t - 6)

E uy(t)sin(2t + 6)




C“[c"‘;,’u]

Select one:
O A uy(t)sin(2t - 6)

J B.None

O C.us(t)sin(2t)
D. #in(2t - 6)

E uy(t)sin(2t +6)




Select one:

O A Both linear and exact

O B.None
O C. Non exact linear
O D. Exact and separable

J E.Nonlinear exact




¥(z) = ¥y 6,2" can be reduced to:

Select one;

O A y(z) = ag(32?) + ay (32°)

D B.y(z) = ag(1 - 3z) + ay(z — 32%)
D C.y(z) = ag(1 — 32%) + ay(z — §2)

J D.None

Ey(z) = ag(1 + 32*) + ay(x + %1'1)




Y(z) = Yoo 0,2 can be reduced to:

Select one:
O A y(z) = ao(32%) + ay(32*)

O B.y(z) = ap(1 - 37) + ay(z - 32%)
D C.y(z) = ag(1 - 32%) + ay(z — y2%)

D. None

EY(x) = ag(1 + 322) + ay(x + ;::‘)




CI5( — §)sin(t + 2)]

Select one:
OA—e¥
.
Be ¥
c.e¥*
D. Nona

£ —e3




Select one:
O A0

OB -1

¢l




HMWV"“‘WWQMQ,\;%

¥+ 5y = us(t),y(0) = 1,3(0) = 0 suchthar ¥
We get

Select one:

=

tI)AY(ﬂ:V%*’;ﬁ;

o™ .
O 8Y(s) = s+ o

C. None

p. Y(s) = ~-‘T--_-,\ + _y';,‘

£ Y(s)




Consider the first order differantial equation
2y’ 2ty = —z%My’ 2 > 0 tu=y O, thenthe
tou’ — 6z%u = g(x) where g(z)=

Seloct one:

O A None

O B 7z0e™
C. 0z

0. 0z%e*

£ T2




Consider the first order differantial equation
2y’ 2ty = —z%My’ 2 > 0 tu=y O, thenthe
tou’ — 6z%u = g(x) where g(z)=

Seloct one:

O A None

O B 7z0e™
C. 0z

0. 0z%e*

£ T2




Consider the first order differential equation k
2y 4 2y = —2%¥Y 25> 0 Hu=y %, thenthe
tou’ — 6z%u = g(z) where g(z)=

Seloct one:
O A None
O B.7z%

c. 062%™

0. 6z e™
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Not yet answered
Marked out of 3.00

¥ Flag question

L[6(t — m)cos(t + n)]

Select one:

O A _(,—II.\

O B ")"\

O C.None
O D (,—m

O E _(,/T\

Previous page

1 Comment

o) Like (J) Comment
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The general solution for the
differential equation
Py + 2% =0

Select one:
O A.None

O B.y(x) = ¢; + 23X + c3x°

® C.

v(x) = ¢ + ¢rlnx + cyxinx

@ D

¥(x) = ¢; + c3x + c3xinx

O E

y(x) =c¢; + erlnx + c3x

4 Comments
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® o P

The general solution for the
differential equation
Py + 2% =0

Select one:
O A.None

O B.y(x) = ¢; + 23X + c3x°

® C.

v(x) = ¢ + ¢rlnx + cyxinx

@ D

¥(x) = ¢; + c3x + c3xinx

O E

y(x) =c¢; + erlnx + c3x

4 Comments



12:309 al T .

< Deema's Post

@ o O .

" Flag question

The functions y, (1) = ¢* and
y2(1) = te* are the
fundamental set of solutions
for the differential equation :

Select one:
O A.None

OBy —6y +6y=0

Ocy -6y +9y=0
ODy -6y -9y =0

OEY +6y +9y=0

... WA

2 Comments

oY Like (J) Comment

ol Zain JO = 12:0% PM
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Not yet answered
Marked out of 3.00

{" Flag question

L[o(t — m)cos(t + n)]

Select one:

@ A —e™

O B.e™

O C.None
O D ()—n.’_\

O E _(,;'I.\

Previous page

1 Comment

@) Like (J) Comment
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The general solution for the
differential equation
-\.}-‘.HI £ 2'\_2.\]’ = ()

Select one:
O A.None

O B.y(x) = ¢; + 2x + c3x°

® C:

y(x) = ¢; + crlnx + cyxinx

@ D.

y(x) = ¢; + cax + c3xinx

O E

y(x) =c¢; + calnx + c3x

4 Comments

n ... ~N\ o
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" Flag question

The functions y; (1) = ¢* and
v> (1) = te’ are the
fundamental set of solutions
for the differential equation :

Select one:
O A.None

OBy —6y +6y=0

QcCcy -6y +9y=0
ODy -6y -9y =0

OQEY' +6y +9y=0

o e

2 Comments
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Marked out of 3.00

{" Flag question

The differential equation

dy
—X—— + cosx = y — x can be
classified as:

Select one:
O A.None

O B. Nonlinear exact
O C.Exact and separable
O D.Both linear and exact

O E.Non exact linear

Previous page

1 Comment

[b Like ﬂ Comment
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Marked out of 3.00

{" Flag question

The differential equation

dy
—X—— + cosx = y — x can be
classified as:

Select one:
O A.None

O B. Nonlinear exact
O C.Exact and separable
O D.Both linear and exact

O E.Non exact linear

Previous page

1 Comment

[b Like ﬂ Comment
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Consider the first order

differential equation

2y +x°y=-x6e*y, x>0
If u=y=°,then the

differential equation is
reduced to u’ — 6x°u = g(x)

where g(x)=

Select one:
O A.6x7 ™

@ B.7xe*

O C.None
O D.7x3e*

O E6x3e*

1 Comment

o5 Like (J) Comment

al—~J 1 . i cco
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Marked out of 3.00

" Flag question

E—/ [(,—3‘\ ;]

s +4

Select one:
O A.None

O B.sin(2t — 6)
O C.us(n)sin(2t + 6)
O D. us(r)sin(21)

O E. uz(0)sin(2t — 6)

Previous page

1 Comment

oY Like (J) Comment
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{" Flag question

L' In(sv/s* + 25)]

Select one:
O A %[ | + cos5t]

O B.—%[l + cosSt|

@ cC.1 + cos5t

@) D.—%[l + sin5t]

O E.None

Previous page

1 Comment

oy Like (J) Comment

ull Zain JO 2 12:02 PM

"ot

. —_—
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A suitable particular solution
form for the differential
equation

y! — 2y — 3y = 3coshx

t -X
e +e

(Hint: coshx =

Select one:
O A Y(x) = Axe' + Be™

O B. Y(x) = Ae* + Bxe™

O C.None
@ D. Y(x) = Axe* + Bxe™

O E. Y(,\') = Ae* + Be™

1 Comment

[b Like (J) Comment
T ey S
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" Flag question

L[e' cos* 1]
Select one:
Ip1 s
O A S[++ ‘:H]
@Bl
i (s=1)"+4
@ c. - e
" sl (s=1)"+4
O D.None
@ E sl + —5%—]
A (s—=1)"+4

Previous page Next page

1 Comment



Marked out of 2.00

\” Flag question

Let f(£) = o(ft — 5) + 3u,(1).
Then f(6) =

Select one:

O A9
O B.18

@ C.3x
@ D.3

O E.None

Previous page

1 Comment

1) LiKe cmm—— COMMment




If we apply the Laplace
transform to the initial value
problem

Y+ Sy = uz(r), y(0) = 0,y'(0) = |
such that Y(s) = L[y(1)]
We get

Select one:

@A Y()= -5 + -5

s(s2+5) o435

O B ),(S) = (-—;\ - )

s(s2+5) $2 45

OCYis) = 4+

s(s245) 45
O D.None
-_‘\
@ EY(s) =5 —F o5
(s2+5) 2 +5
1 Comment

[{b Like A Comment




12:33 9 al T @)

£ Deema's Post

ol Zain JO = 12:01 PM
& Imsystem.ju.edu.jo

Marked out of 3.00

" Flag question

L’[u; (H)cos(1)]

Select one:
O A.None

@ B ———¢"3°
@ C. 57

so+1

Previous page

1 Comment

Y Like ™) Comment
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The general solution of the
differential equation
Y +3y =6is:

Select one:
O A.None

O BY(1) =c; + e + 2t

Ocyt)=c +ce™ +6

O D.y(1) = ¢; + e

O E .\'(1) =+ (’—3’

Previous page Next page

oY Like (J) Comment

il Zain JO = 12:01 PM
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" Flag question

The set of all singular point(s)
of the differential equation

P+ +2y +4xy=0

Select one:

@ Al

O B.None
@ c.0, -1

O D.0

O E-1 |

Previous page Next page

1 Comment

[C) L|ke ﬁ Comment
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Given the recurrence relation

(n=2)n-3)
(l,,+: — —mun. n = (). l. 2. o SIOVE
then
N o0 N
yx) = Y * a,x" canbe
reduced to:
Select one:
O A
LN l 3 2 . 1 43
y(x) = ap(l = 3x°) + a;(x — zx7)

O B.

yx) = ao(3x%) + a (%.\‘3)

O C.None

O D.
¥(x) = ag(l = 3x) + a;(x — 3x7)

o

O E
y(x) = ap(l + 3x2) + a;(x + %.\'3 )

1 Comment

1) LiKe cnmm—— COMMment
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We can write the function
\ cost O<t<?2
f@) =
t 122

using the unit step function in
the form

f(1) = cost + g(Hu,(r) where
gr) =

Select one:
O A.1 + tcost

O B.t — cost

O C.cost —t

O D.t — tcost

O E.None

2 Comments
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" Flag question

Consider
' +({+1y=1t1t>0. Then
a suitable integrating factor is
given by :

Select one:

O A1) = %
O B.¢(1) = —t¢'

O C.None
O D.¢(1) = te

O E (1) = te™’

1 Comment



